No.1

FSvD - J4—I)LFTEH - FiE - #ERR - R - BLIRE
R = <[og] gities  H2 By BB ERERS 7 1| 22080722 | IR TRER
EHEFIR BE v BRE BRI S S A REARERERTBEI—ILE =— k| 083100 gk PIREF
V= | AL (E] B 4 . BEEA - |t 4 - [T - BEEA - [T - [HEEEE T2 - [ =
Sl IR P g o Y o HiR RE ) e Rl (1 Y e HiE Gl T T R ) e sl (1 Ak
07/16|BF (1X) EX AR S 11.24 =k B 11.50 || 3[{&E%E &3t 11.62 [4|8FEKX #t 11.70 EGEL Ri5 &G HE Ri5 =E HiE Ri5
100m -0. 3| |tEgrsem A +AE fEF A HEFFEAS HEXEAR SR AS p = =
07/16|BF (1R) RE 28] 1|=EX KA 1. 41 FWL 1\ 11.51 |3|%&E ZE&x 11.56 |4 |EREEZN 11.79 WA EE 11.81 [[6|/h#k fBX 11.85 7|0 EA 11.87 Ri5
100m 0.2 |ERS BEXFA FEAREFA HERER A5 FARES TH=E
07/16|8F (1R) REE (A [FAR B 11.82 |2 |tk Eaid 11.88 | 3|=@k FAHR 11.89 |4 |&F #%f6 12.32 & 2F 12.47 /l\,m%’ﬁjcﬂﬁ Ri5 £ R Ri5 Ri5
100m 0.2 428 HEXREAR TH=E TARES TH=E BrIB_E = =
07/16|BF (1X) R | 41— F HA 11.86 || 2 |[mmshzimA 12.09 |[3[%&E8 EBX 12.36 |4 |7%>7L v== 12.59 %II? B 12.60 [|6 it (518 12.60 | 7|m%h  #BH 12.77
100m +0.3| [ByBE—5 BEXFR By E—BHES FR7XU—557 TH=5 L8 i
07/16|8F (1R) RE (S| 1 BEREX 11. 81 =RES 11.98 | 3 |/0@k ] 12.00 |4 (&R RN 12. 1 1M 53 12.14 |6 @K &E 12.82 Bz B% Ri5
100m 0.1 |BHRE BRE FEXFA BEXREFA BERE FR7AY—+557 pR7AY-t557
07/16|BF (1X) REE |61 7Bk R 12.14 BR 2 12.42 |3[8REX Ex 13.03 |[4 ]| Rl 13.07 i =& 13.20 | 6|BE  * 13.22 || 7| RAREH 13.99
100m +0.6| |[HERE +AE FARES E—a>J b= = = i = FR7AY—t557
07/16| B F (1:R) REE | TH|1|FR EE 13.21 | 2|ME & 13.74 |3[#kA #ith 13.77 |4 |EHR &7 13.79 [FESEETN 14.42 |[6|shh BE 15.74 —/ BMA Ri5
100m +1.1 Ef—5 HR7AY— 55T WR7RY—F55T EF._&]:E HR7AY— 55T & ol —BHE S WRT7AU— k25T
07/16|BF 2X) REE | THR] T [MEE BEA 11.42 2 |&H EX 11.52 |3 [#aK MEE 11.76 |[4|&x0 EA 11.84 R 5 N R Ri5 BE HiE Ri5
100m -1.1 | AE—-5 FAXES L YS] 1H=E L VS] = =
07/16|BF (2R) RER | 260 | 1 |58 BEIK 12.02 |2 |=@k /A 12.19 3|8 K X 12.19 |4 |d&F 2F 12. 64 Ri5 £ R Ri5
100m -2 1| |mERBE tH=S N EIN I tH=E = et
07/16| 58 F (2R) REE(ME| 1O BEA 11.70 |2 |MA% FlIE 11.77 |3|FEK #EH 11.94 | 4 |4ER8 & 12. 1 IJDfﬂ’i #e’? 12.91 /N ER KB Ri5
100m 1.7 |4AE /8 A5 BRE EE_-5 BErBE_5
07/16| 58 F (2:R) R | A BEREX 11.82 ¥R EE 13.12 |3 |1BE =& 13.32 |4 [EMA #E 13. 46 HER &7 14. 11 Al ¥ Ri5
100m -2.0| RS aE—5 ot N EINETE] g ot b= =
07/16|BF RES | MR 1| KM 1B 34. 36 =k B 35.99 |3[kEE REA 36.49 |4 R 37.30 #HR B 37.53 |6 A [EEE 38.12 TR AR Ri5
300m FARES A5 BE—5 LY BEXFA +AE FARES
07/16|BF REE (260 |1 |BO BEA 37. 61 BB =it 38.27 |3 [h# FA 39.24 |[4 |/ ik EBE 39.71 R R 40. 48 P 3 Ri5 FiR O pEM Ri5
300m 25 ]RE i EIN T A5 N EINCTE] BFE_5 RE-F
07/16| 8% E A HEERE SN 37.01 TR B} 37.48 |3 |KA H&E 38.93 [4[8HK HEX 39.99 EE 40.05 |6 [&N A 40.33
300m EARED FAXRES R B 55 Y EINTTS =) TH=5
07/16|B8F YA RS 38.43 —F H®AX 39.04 [3[%@8 EBX 39.16 |4 [BE 2 41.81 42.46 |6 |2H k&i 42.93
300m FHRE-HEE Byl —5 Wy EHES +AE 4AE
07/16|BF R |14 1(|mE FE 1:59.53 |12 R+ & 2:00.64|3[/NE 2F 2:01.24[4[pR FA 2:01.25 2:05.67(6|HE %Hth 2:06.29| [ILARE Ri5
800m = ) FEAERHE LARED I EINT BE-—5 S A 2 FAC
07/16| 8% E A EERES 2:07.87(2|=# R 2:09.02|3|XE MBx 2:12.20( 4 |[¥2E B 2:13.17 2:18.55| |BHE MRE Ri5
800m BEriE—5 aE—5 BEriE—5 BRE BEriE—5
07/16|B % EAEABEEEES 2:10.87( 2 |/h#k B 2:11.50( 3 [%HE &4 2:18.62( 4 |B# R 2:20.24 2:20.42| [thE qLEE Ri5
800m N EINETS] 25 - IFBREE TH=5
07/16| 8% E A DEEREE 2:19.56( 2 | Tk BME 2:22.48| 3 [{EHE 413k 2:22.66(4|BH 4 2:29.85 B 2:30.93[6[thern BE 2:52.31| [#E —iK Ri5
800m L V.S & - B RS TiHE=5 LV.S= NETS B RS & - B RS
07/16|B8F E A BEGEE 4:12.06| 2 |fE #=E 4:13.83[3 |2 X# 4:13.94| 4 |tk@E K 4:15.44|5|HE %Hth 4:17.52]6 |£%H EH; 4:24.12||7|RR m#F 1]4:25.80( 8|54 4:26.07
1500m BEREARE =] BriE—5 FRR-HEH E—5 THE=S FEE-HES
9|X\E Bt 4:26.10(10| 515 IS 4:21. 41|11 &mE BE 4:28 31(12[38 W& 4:29.03(13;=m #0A 4:32. 22 [[14[{E B RIAK 4:40.42(15|B@R BE 4:44 3116 475245
BEyiBE—8 FEE-HES FEE-HES FEE-HES FEE-HES FEE-HES FEE-HES
[ITF:Nz3: RI5
FiE YA FAC
07/16|B % R | 261 /MR 2F 4:32.66( 2 B8 ME 4:36.62] 3 [#HE B 4:38.77( 4 |t BFLRK 4:42.18|5 |®E &4 4:43.54]6 |B#H fERK 4:46.61| 7 |% =M 1/4:51.03|8 2] 4:52.10
1500m FAXRES BrlE—8 BRE afl—5 af—5 IRBRES +AE
9|h BN 5:07.51(10[# 1L =2 5:28. 73 |11|thr &8 BE 5:49.43| |RE EA Ri5 Ik BE Ri5
Bl—5 WFENRES & B RS A= & - RS
07/16|B8F R 1$ﬂ,§ [: 33 17.23 Bl Ri5 BiE &R Ri5
110mH[1. 067m 9 14m-0. 8| |w~E—7F N EINETE] BEriE—5
07/16|8F 1% B 41.34 WH EX 43.88 |3 [fH:E HB# 44.32 | 4|BE BB 47.40 FE B 50. 35
300mH[0. 914m] LYS-1 EriHE B BrE—5 TH=5
07/16| 8% R BEL K L 7:25.26( 2 |shAt BAY 8:48.74| |mE i Ri5
2000mSC[0. 914m] +AE aff—5 FTER HEE
07/16|BF R 11&% & 15:23.38) 2 [(AE HEZ 16:00. 40
3000mW +AE FER HEH




bSvY - T4 =)L RIBHE - FiE - ZERES - RB - FLER

No.2

Bl =— i°[og] pkas  F 2 EEs BB BHERS = Y] 22080722 | HIE  THEES
BN AGIfuN BEy BEEHEBS S A REARERERTBEI—ILE 22— K| 083100 gk PIREF
VA | WL IE] _ ] eie & 4 ~ EEEE _ TE] BEie & 4 _ BEEE _ EEEE _ ] eie & 4 ~ EEEE —
MR MR o Dali] oo Sl e il [ il il Sl S e il [ o
07/16| BF EY) T/Em —#& m75 [2|#E i 1| 1m60 |3|A#E % 1] Imd5 |4|XWL 2= 1| 1m35 AR B |m&EEL
ok L VS= FHEXFR FARES B8 SERTFF
07/16| BF R BR RE 3} NE XE 4 XRB
EE Z28g RPRE
07/16| BF R T|Ax BE 6m21 |2 |fh2 & 2| 6m02 |3 |=# Mok 2| 6md7 |4 |@mE #5E 1| mb2 |6|28 Zm 5mb0 | 6 | Wl 5mdl | 7 [E%H EAX 1] 5mi0 A BE 1| X%
g Bk SPATFF -0.9 tE=E 0.6 EIN A= -1.2 £RE 0.8 SFATFE 0.7 E—q>5 -1.7 £25E -1.4 i EIN A=
07/16| BF R 1|%F &mts 2md9 |2 |%E &= 2| 12mi3 |3|HE WS 2| 12n04 |4 | L@ —#& 2| 1im59 |5 |t BE TIm38 || 6 [EI%r =EA 1| 11m19
=Bk EFEHEAS 0.4 tTHZE -0.5 THZE -0.4 £AE -1.3 R +0. 1 £AE -1.2
07/T6|BF (1R) | RS T|E:Z %M TomoT [2|=B&= A& 1| 8m36 |3/ Bk 2| 7mb5 |4[KiE F& 1| m22 |5[chA {&E 1| 6m99 |6|#O EEA 1| 6m6l | 7[&F* bmm 1| 6m07 |8[/MR A 2| 5md0
FaH 1% (6. Okg] A5 FARES A5 RFE-5 RS A5 FARES A5
07/T6|BF Q&) | RBs S 8m35 |2 | k@ F& 1| Imbl EH BE 1| X5 it EE 1| XB #O BA 1| X “®E2 &l 1| X% IR MR 2| RB EE WM 2| X
Fah 1% (6. Okg L VS= RFE_S FARES A8 A5 FARES A8 A5
07/16|kF (1R) | REs| 14| 1|%&0 = 13.37 |2 [/NMRKGETF 2| 13.42 3|5 S B 2| 13.70 |4|iA BB 2| 13.83 |5|A#E =X J1| 13.90 |6|f@E KRE 1] 1405 |7|IIE BE 2| 14 26
100m 1.0 [FARES FARES BEriE—5 FARES HRTAY—+r57 FEXEAR 2B
07/16|5F (1R) | ks | 28 | 1 |=E 18 T4.17 |2 ;AW #8 01| 14.19 |3|#&WL #%aa 2| 14.33 |4|#0E =4& 41| 14.55 |5 |3kA Ju% 2| 1458 |6 |tal8 =k 1] 14.90
100m 0.3 [Brif—% FRrRY—+957 LS FR7Z—t557 TH=F FHEXRER
07/16|xF (1XR) | ®Bs |31 (HO BA 13.78 [2|B& B3 1] 13.92 |3|&E FF | 14.83 [4[A =t | 15.04 |5|8RE =82 2| 15.28 |6|#A HWF J| 16.11
100m -0.3 ErE—E EriE—5 ERFRY— b5 T & E—BHES FER7AY—F5 5T
07/16|%F 2R) | RE5| 14| 1|0 #a5 13.99 |2I1E BZE 2| 1415 |3 &%= 2| 14.21 |4|m=E e 1| 1454 |5|RE == 1] 15 01
100m -0.6| |EA—% L% LN LY WENBES
07/16|kF Q&) | ®Es| 241 (H0O BA 13.91 [2|Es &8 1] 13.99 3| % 1| 1409 |[4|%Ek 3= 1| 14.36 |5|F# BE 2| 14.45 |6|REB =@ 2| 15.52
100m 0.1 |&ErB= ErE—E 4R =1 GRgES S
07/16| %% E A D 42.76 |2 |=XE DB 2| 46.10 |3 |f£@% S A 2| 46.76 |4 1B %= 2| 48.07 | |28 BD 2| X
300m HEXFEAR BEri—5 BEriE—5 A5 b EINGIS)
07/16| % F REE |2/ |1 |IEE =@ 4790 |2 | ~H BE 2| 48.12 |3 |4 & 1] 48.91 |4[RA ;m® 2| 49.00 |5 @A ®Fi 1| 52.86
300m +tR=E EAEES 425 +tR=5 GAEES
07/16| %% REE | 80| 1|14 W 1]2:23.33) 2 |%E B 42| 2:25 47| 3 |FIE HEBE 2|2:31.67 |4 wE EEX 2]2.32.37|5|RA B 2 2:42.02) 6 |l fZ 1]2:43.97|7 @K = 3]|2:48.03| BB B 2| X5
800m e INGTS yoKyL4aRE 25 BEXEAR Ty RS 25 HEXER N ESNETS]
07/16| &% REG |24 |1 |MME XX 2]2:41.89)2 | =05 mic 2|2:49.03| 3|28 ZE 1|2:50 71| 4|h# 5 1]3:.00.04|5|8%A & 2]3:01.31|6 20 M= 1|3:04 0887 hEBAETE 2|3:16.80| |E+EERE 1| X
800m BE EINI BE-F ERAFERS N ERAEES tH=E BrIE=E
07/16| % F EY) TI#%A& M 1458402 |FME k8 1]5:00.76] 3 |F1E HAE 2|5:12.50 |4 |&AK =& 2|5:17.63|5 A (B 2527376 |fk 22 3|5:48 55| 7 |=I8 &I 2|6:06.05| |BE =RZ= 2| X5
1500m i EINET HEE /8 BriB—8 By EHES HEREAR L ER N A BRE
U] Ri5
H£AE
07/16| % F R TtE = 10.52 |2 |[fe& fHm 1] 19.65 |3|=/@ &M 2| 21.17
100mH[0. 838m/8. 50m-1.6| |4 A% L8] tH=5
07/16| %% EY) EE T 4747 |2|#F FE 2| 58.49 | |FR HE 2| Xb
300mH[0. 762m FARED FARED RS
07/16| & F RS MELDOH Ri5
3000mi RS
07/16| &% EY) EXEES Tmd5
Eo Bk FEXRER
07/16]% F (1:R) R 1|Rp #x 3m20 |2 |&@E FEA 2| 2m30 |2 |REE EE 2| 2m30 |4 (|FFSOEF 1| 1m0 #ARK B 2|:ZBuL| |FEB E 2| Ri5
EE R 177 25 BIEEETH BEEELTE RFENRES N EINGIE)
07/16| % F R T|fs = 19 |[2]&  EAmE 1| 4m59 |3[&O #EE 2| 4m53 |[4|KEHMHBE 1| 4m26 |5|mEmk imE 1| 4m24 |6 |TE 4w 1| 4m02 |7 |ME BE 1| 3m95 |8[tE & 1| 3m63
EERk HERER -1.3 FARED +0.1 aE—5 -0.6 NE-H -0.9 mBE—& -1.3 LN -0.8 L EINC -0.5 £RE -0.7
9[xE #HE 3md7 B B o|ERAL| BB B 2| X
425 -0.4 By E—EHES N ESNETS]
07/16| & F B TERABE omo1 |[2[FmE &= 2| om8 AH FE 2| XRip
=ER Rk RE_Z -03 | 425 09 | 427
07/16| 57 (1R) | RBs T|## F& 9m79 |2[&A Ex 3| 9m51 |3[IE B 2| 6m69 |4|KEB D 1| 5m93 |5|EBA T 2| 5m0 |6[E: AmE 2| 5mil
R 1% [4. Okg] BEAER RE-Z 25 RE-Z RERELTE BERELTE
07/16|5F 2R) | 1M T|s Hi T0mi8 |2 |3 F=& 1] om82 |3|KS m= 1| bm6s |4|%il #iZE 2| 6m36 |5 |g8A P+ 2| 4m97 Nt BE 2| xB
Fan 1% [4. Okg] BFE_5 REXFA RE-5 BIEEETH RIEFELTH +AE
07/16|kF QR) | RIS NEEEDS m40 |2 | =® 2| 2m0 E I EIEEC
BEk 25 BIEELFS TR B 15




